STAT371 DISCUSSION 8 October 27, 2002

t Test
Ho : g = o
Hy @ pq # po (nondirectional)
Ha @ py < po (directional)
Hy @ pp > po (directional)
Test statistic: - -
. (th —72) =0
SE@l*ﬂz)
where
57 s3
SE(?J1—172) = n_ll + n_22 =V SE% + SE%

P-value = tail area under Studnet’s t curve with

(SE? + SE3)?
SE! SE;

(n1—-1) (n2—1)

where SE; = \/S:L_l and SE; = \;%L_Q

df =

Nondirectional H, : P-value = two-tailed area beyond t, and —t,

Directional Hy :
Step 1: Check directionality
Step 2: P-value = single-tail area beyond t,

Decision : Reject Hj if P-value < «



